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ALGEBRA %\
Chapter 3: Algebra

Part 11: Solving Linear Equations
Starter (with the unknown on both sides)

Video

Worksheet — I’m giving it a try!

Worksheet — I’'m building my confidence! Lamﬂi
Worksheet — I’'m ready for anything! apa0)
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Extension \888%
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Write42 as a| Ifa =1 ’ b =2 A table that used to l;l;:: :::ef; :-:f: t;
product of | and c =-5, dej:;z:?nh:;ce and blue to green
prime calculate | bye1% Howmuch |SWectels 1: 5 What
factors 4a+bc does it cost now? green sweets?
/< g Factorise | termofthe | Calculate
°© , 4a2-10ab | sequence | 2/4x1/7
/ Calculate o 6,10,14,18,22
Share 36 in
Calculate Estimate the ratio Ex;ﬁqnpc:i?ynd
1/8 + 3/5 | 14.96 x 3.76
9:3 (x - 9)(x + 4)
Ehe meha“ 01" ﬂ;e;e Does the co- Calculate the size
Solve 'é::;:;z;é " | ordinate (2, 8) lie| of one interior
7(7y +1) =-91 . on the graph angle in a regular
33139 ' y=3x-1? heptagon.

Answers




2x3x7 -6 £70.20 | 1:15
26° |2a(2a-5b)| 4n+2 1/14
29/40 40 27:9 | x*-5x-36
y=-2 11 8=3,:f§)'1 128.6°

Back to the stard



/ Solving Linear Equations \
(with the unknown on both sides)

Solve the following equations:

(a) 5x+8 =4x+ 11 (b) bx+2 =3x+ 14 (c)x+4=3x+1

(d)7x—2=2x+8 (e)5x —2=9x—2 (f)4x+6 = —3x+ 20

z ()10 —x=2x—5 (h) 4(2x —7) = 3(x — 6)

video
\ Notes/



https://youtu.be/IKyXhPDpbV8
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Solving Linear Equations
(with the unknown on both sides)

Solve the following equations:

(@)\5x +8 = 4x + 11|

RUES ‘é:_C-L%iJC:lnyI—L;: a LFOC’
ac+8 = \|
Chack 5§5(2)+8 = &l V7
(d)(7x —2 = 2x +8
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cs| < =% \=S
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(@10 —x = 2x =5
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+S
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\o —-6) =28 -S
v Clhecn L ((2(2)

(b)\:.: +2=3x+14

T o2 \ i S
-2 [ 3¢ =\2 |72
22| o= =4 1T3

(c)x+4=2x+1

x| 4 = 2x+\|TF
-1 R = 2 T\
<2 3/1: o .TZ

S+ 4 = 301.SY+ v

Chact 6 (ud%2 = 3O+ Shecte (A

(e]\'S_:t:—Zzg:r—Z

4x +6 = —3x + 20
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+2ac ) E\
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the (otter

Sulobractisg the
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SE | — mhxe2| ST 350020
+2 O = Lo |+2 -¢ —2 = = \4
= b l o =2 iz =7 oc = -

-6 the 2quadk o~

T7 ‘o~ SO\\)Q_ oS

Chrecte S22 =436) 2V

(h) 4(2x = 7) = 3(x =6)

S ~28 :31—\8\[ 2
_ ~352
. Sx:—zg -—12
-l:?,g S0~ - \O + 28
-5 - :1 ":S

“7) = 3((2)-L) v

Clectd &G L2)FE6 =-3(2\)*20 vV

Back to the start!
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I’m giving it a try!

Solve the following equations:

(D2x=x+4

(5)4x+2=3x+6

(9)3x=x+4

(13)5x+2=3x+6

(17)5x+1=2x+7

(21) 6x + 3 = 3x + 3

Answers

(2)3x=2x+4

(6)3x+6=4x+2

(10)4x =2x + 4

(14)3x+ 6 =5x+ 2

(18)4x+5=7x+2

(22)12t+1=8t+ 3

(3)3x+1=2x+5

(7)6x+4=5x+9

(11)4x+1=2x+5

(15) 8x + 3 = 6x + 11

(19)5x+3=x+11

(23)9x +5=6x+2

(4)3x+2=2x+6

(8)9a+8=10a+5

(12)4x+2=2x+6

(16) 5w+ 18 = 7w + 4

(20)3x+38=8x+8

(24) 9x + 4 = 11x + 10




&

‘m giving it a try!

(Dx=4 2)x=4 B)x=4 4)x =4
e OB)x=4 (6) x =4 (7)x =5 (8)a=3
= (9x=2 (10)x =2 (1) x =2 (12) x = 2
(1) x =2 (14) x = 2 (15) x = 4 (16)w =7
= (ANDx=2 (18)x =1 (19) x =2 (200 x =6
© (@nx=o0 22)t = 05 m_% (23) x = -1 (24) x = =3
= @
=

\ [My Reflections... i% i% i%] Bk o the st rt'/




(1)5x—3=4x+2

(5) 4x — 6 = 3x

(9)2x—1=3x—14

(13)2x+2 = —x+ 11

(17)3x—1=—x+7

(21)—x+1=-2x+3

Answers

(2)8x—-1=6x+5

(6) 7x —6=4x—3

(10) 4x — 20 = 10x — 2

(14)2x +2 =11 —x

(18)5—x=5x—1

(22)7 — 7x =12 — 2x

I’m building my confidence!

Solve the following equations:

(3)2x+7=5x—-5

(7) 9x — 10 = 5x — 2

(11)4x+1=2x—9

(15) —2x+1=3x+6

(19)—2x+6=x—09

(23) —2x—10 = 5x — 10

4d)x+1=3x—-1

(8)6x —5=4x—9

(12)3x— 6= 7x — 4

(16) 5 —3x = 7x + 20

(20)3x—2=1—3x

(24)—1—2x =5 —10x




4

'm building my confidence!

(1)x =5 (2)x =3 3)x=4
T (5)x =6 (6)x=1 (7) x =2
- (9x=3 (10) x = -3 (11) x = =5
EN
| (13)x =3 (14) x = 3 (15) x = —1
% (17) x = 2 (18) x = 1 (19)x = 5
= ®
| (@nx=2 (22) x = —1 (23)x =0
\ [My Reflections... i%i% i%]

(4)x=1
(8) x = —2
(12) x = —-0.5 0?’—1

2
1
(16) x = —1.50r — 15

1
(20)x =0.5 or 5

3
(24) x = 0.75 ori

N

Back to the start!/




I’m ready for anything!

Solve the following equations:

(1) 4x = 3(x + 1) (2)3(x +4) =2(x +9) (3)5(x +2) = 3(x + 4) (4)2(x+5) =6(x— 1)

(5)4(x —5) = 7(x — 2) (6) 8(2x — 5) = 3(5x — 10) (7)5(2x +5) = 3(6x + 7) (8)9(2x — 5) = 3(4x + 7)

(9) 2(2x + 4) = 4(2 —x) (10) 10(3x — 4) = 20(5 — 2x) (11)6(3—4x) + 14 =8(3x+ 1)  (12)5(2 — 7x) + 25x = 2(6 — 4x)

Answers




Answers

I’m ready for anything!

(1)x=3 2)x=6 B)x=1 4)x =4

(5)x = -2 (6) x =10 (7)x:0_5m,% (8)x =11

(9)x =0 (10) x = 2 (11)x=0.5m‘% (12) x = —1

Now that you have marked your work, take time to reflect on how confident you are feeling...

[My eteetone- %i&i&] Back to the start!
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By using your knowledge
about isosceles triangles,
find:

(a) the value for x

(b) the perimeter of the
triangle

18-x 3x+12

4x

By finding the value for x
first, find the value for y:

bx —3=2x+ 129

5x+17 = 4x + 2y — 3

Explain why the following
equation has no solutions:

4(3x +2) =12x+5

Answers
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By using your knowledge
about isosceles triangles,
find:

(a) the value for x

(b) the perimeter of the
triangle
18-x Ix+12

dx
(a) 18 —x = 3x + 12
x = 1.5

(b) 18 —x +3x + 12 + 4x
= 30 + 6x
= 30 +6(1.5) = 39

By finding the value for x
first, find the value for y:

bx —3=2x+29
S5x +17 =4x+ 2y —3

4y —3 =29
4x = 32
x =28

5(8) +17 =4(8) + 2y —3
57 =29+ 2y
2y = 28
y =14

Explain why the following
equation has no solutions:

4(3x +2)=12x+5

12x+8=12x+5
now subtract 12x
8=05
this does not make sense

Back to the start!
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Retrieval Homework Topic Homework

1) Calculate 3432 Solve the following equations:
7 (@) 6x +3 =5x+5

2) Share 162 in the ratio 3: 6 (D) 7x X

(c)2x+3=4x+5
3) Bxpand (x — 8)(x +4) (d)9x — 11 =4x+9
(e)2x +4=8x+4

4) Increase £180 by 83%
(f) x+2=5x—-1

5) Solve 9(4y + 1) =81 (g) 2x —4=8—-2x
(h) 2(x —3) =3(5x+ 11)

[Myﬂeﬂections... * * *}

Answers




/Homework \

Retrieval Homework

= (1 = (2) 54:108 (3) x2 — 4x — 32 (4) £329.40 (5) y=2

E% Topic Homework

i% (a) x =2 (b) x =3 (c)x =—1 (d)x =4
| (@x=0 (F)x = 0.5 or ~ (9)x =3 (h) x = —3

\i_j 2

\ Back to the start!/




